1/N,, dN, /dN_/dn dg

Ratio to ATLAS

13000 GeV pp 7+Jet
T T T — 1 T T T T T T — T T T T T T T T
N | | af
- <pT> (ATLAS UE in Z production) —3
— 1=
0.7 — m ATLAS _2
_ & Pythia 6.428 346 I
0.6 - Pythia 6.428 347 7 3
T Pythia 6.428 348 1=
— Pythia 6.428 349 —1%
0.5 — —A— Pythia 6.428 370 2
0.4 — 3.
B -1 ©
- 19
- HE ™
B P 08 o R I e
03 __ .__E| [ - - §
B 2 19
=
: X : >5
0.2 — —1{.C,
B —,
B do
- — €
s 18
0.1— —°
- 15
o
B -1 O
- — €
N

— 1 | T 1 1 1 [ 1 1 1 i =
25 32

m =

- =} —

B e RERCn | R 0 _

B Z“\K D |——I e EDHH —




	Contents
	Page 1


